



The ring of real-valued functions on a frame

A. Karimi Feizabadi, A.A. Estaji, and M. Zarghani

Communicated by Themba Dube

Abstract. In this paper, we define and study the notion of the real-valued functions on a frame L . We show that $F(L)$, consisting of all frame homomorphisms from the power set of \mathbb{R} to a frame L , is an f -ring, as a generalization of all functions from a set X into \mathbb{R} . Also, we show that $F(L)$ is isomorphic to a sub- f -ring of $\mathcal{R}(L)$, the ring of real-valued continuous functions on L . Furthermore, for every frame L , there exists a Boolean frame B such that $F(L)$ is a sub- f -ring of $F(B)$.

1 Introduction

Pointfree topology focuses on the open sets rather than the points of a space, and deals with abstractly defined “lattice of open sets”, called frames, and their homomorphisms. The ring of real continuous functions in pointfree topology has been studied by a number of authors, such as B. Banaschewski (see [2, 4, 5]), R.N. Ball and J. Walters-Wayland (see [1]) and T. Dube (see [6–8]).

In this paper, we are going to turn our viewpoint and regard the power

Keywords: Frame, f -ring, ring of real-valued functions.

Mathematics Subject Classification [2010]: 06D22, 06F25, 54B30, 54G05, 54G10, 18B30.

Received: 25 December 2015 Accepted: 12 April 2016

ISSN Print: 2345-5853 Online: 2345-5861

© Shahid Beheshti University

set of a set X as a frame, and study all its subsets, rather than the points of X . Our future purpose is to consider a frame L endowed with a topoframe as well as the power set of X endowed with a topology (see [9]).

In section 3, we introduce the concept of real-valued functions $F(L)$ and show that $F(L)$ with the operator \diamond defined at the start of this section, is an f -ring.

In section 4, we show that the f -ring $F(L)$ is a generalization of \mathbb{R}^X , the collection of all functions from a set X into the set \mathbb{R} .

In section 5, we prove that for every frame L , there exists a Boolean frame B such that $F(L)$ is a sub- f -ring of $F(B)$.

In the last section, we show that $F(L)$ is isomorphic to a sub- f -ring of $\mathcal{R}(L)$, the f -ring of all real continuous functions on L , and demonstrate that the inclusion may be strict.

2 Preliminaries

A *frame* is a complete lattice L in which the infinite distributive law

$$x \wedge \bigvee S = \bigvee \{x \wedge s : s \in S\}$$

holds for all $x \in L$ and $S \subseteq L$. We denote the top element and the bottom element of L by \top and \perp , respectively. The frame of all subsets of a set X is denoted by $\mathcal{P}(X)$.

A *frame homomorphism* (or *frame map*) is a map between frames which preserves finite meets, including the top element, and arbitrary joins, including the bottom element.

Here we present some of the background facts concerning f -rings which are used in our manuscript. To begin with, a lattice-ordered ring is a ring A with a lattice structure such that, for all $a, b, c \in A$,

$$(a \wedge b) + c = (a + c) \wedge (b + c)$$

or, equivalently,

$$(a \vee b) + c = (a + c) \vee (b + c)$$

and

$$0 \leq ab \text{ whenever } 0 \leq a \text{ and } 0 \leq b.$$

As immediate consequences one has that $-(a \vee b) = (-a) \wedge (-b)$, $-(a \wedge b) = (-a) \vee (-b)$ and $a \leq b$ implies $-b \leq -a$.

Further, with the definitions

$$a^+ = a \vee 0, a^- = (-a) \vee 0, |a| = a \vee (-a)$$

one has the rules

$$0 \leq |a|, |a| = a^+ + a^-, a = a^+ - a^-, a^+ \wedge a^- = 0,$$

$$|a + b| \leq |a| + |b|, |ab| \leq |a||b|.$$

A homomorphism of lattice-ordered rings is, of course, a map between such rings which is both a ring and a lattice homomorphism. We note in passing that in certain cases any ring homomorphism automatically preserves the lattice operations.

An ℓ -ideal in a lattice-ordered ring A is a ring ideal J of A with the added property that $|x| \leq |a|$ and $a \in J$ implies $x \in J$, for any $x, a \in A$.

For any $a \in A$, the ℓ -ideal generated by a is

$$[a] = \{x \in A : |x| \leq |a|b, b \geq 0 \text{ in } A\}.$$

Now, an f -ring is a lattice-ordered ring A which satisfies any of the following equivalent conditions:

1. $(a \wedge b)c = (ac) \wedge (bc)$ for any $a, b \in A$ and $c \geq 0$ in A .
2. $|ab| = |a||b|$.
3. $[a \wedge b] = [a] \cap [b]$ for any $a, b \geq 0$ in A .

We call a lattice-ordered ring A with unit *strong* if every $a \geq 1$ is invertible in A , and *bounded* if, for each $a \in A$, $|a| \leq n$, for some natural number n (where we permit notational confusion between the natural number n and the sum in A of n summands equal to the unit 1 of A). Further, A is called Archimedean if, whenever $0 \leq a, b$ and $na \leq b$ for all natural n , then $a = 0$. In the following, A is always an Archimedean, strong, and bounded commutative f -ring with unit. Also, homomorphisms between such rings are understood to be unit preserving.

An f -ring A has a natural topology, its uniform topology, with basic neighbourhoods

$$V_n(a) = \{x \in A : |x - a| < \frac{1}{n}\}, \quad n = 1, 2, \dots,$$

for each $a \in A$.

Note that $\mathcal{L}(A)$, the frame of all ℓ -ideals of A , is a compact frame. Moreover, for any $I, J \in \mathcal{L}(A)$, the following statements hold.

1. $I \vee J = I + J = \{a + b : a \in I, b \in J\}$.
2. $\overline{I \cap J} = \overline{I} \cap \overline{J}$.

The latter statement expresses that $C\mathcal{L}(A)$, the frame of all closed ℓ -ideals of A , is a sublocal of $\mathcal{L}(A)$ and a frame under finite meets in $\mathcal{L}(A)$ and the closure of arbitrary joins in $\mathcal{L}(A)$; in particular it is a compact completely regular frame.

3 An algebraic structure and an order structure on the Real-valued functions on a frame

The main aim of this section is to show that the collection of all real-valued functions on a frame is an f -ring. If a frame happens to be a Boolean algebra we speak of a Boolean frame.

Definition 3.1. A real-valued function on a frame L is a frame homomorphism $f : \mathcal{P}(\mathbb{R}) \rightarrow L$, where one assumes $(\mathcal{P}(\mathbb{R}), \subseteq)$ to be a Boolean frame.

In what follows, the set of all real-valued functions on a frame L is denoted by $F_{\mathcal{P}}(L)$. We abbreviate $F_{\mathcal{P}}(L)$ as $F(L)$.

Definition 3.2. Let $\diamond : \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}$ be an operation on \mathbb{R} (in particular $\diamond \in \{+, \cdot, \vee, \wedge\}$). Let f, g be two real-valued functions on L . Define $f \diamond g : \mathcal{P}(\mathbb{R}) \rightarrow L$ by

$$(f \diamond g)(X) = \bigvee \{f(Y) \wedge g(Z) : Y \diamond Z \subseteq X\},$$

where $Y \diamond Z = \{y \diamond z : y \in Y, z \in Z\}$.

Lemma 3.3. *Let f, g be two real-valued functions on a frame L . Then $f \diamond g$ is a poset homomorphism.*

Proof. Trivial. □

Hereafter, when a topology is used on a subset of \mathbb{R} it is assumed to be the usual topology. The frame of open subsets of a topological space X is denoted by $\mathfrak{O}X$.

For $p, q \in \mathbb{R}$, let

$$\langle p, q \rangle := \{x \in \mathbb{Q} : p < x < q\}$$

and

$$\llbracket p, q \llbracket := \{x \in \mathbb{R} : p < x < q\}.$$

Lemma 3.4. *Let f, g be two real-valued functions on a frame L . Then for every $\diamond \in \{+, \cdot, \vee, \wedge\}$, the following statements hold.*

1. $(f \diamond g)(X) = \bigvee \{f(\{x\}) \wedge g(\{y\}) : x \diamond y \in X\}$, for every $X \in \mathcal{P}(\mathbb{R})$.
2. $(f \diamond g)(U) = \bigvee \{f(\llbracket r, s \llbracket \wedge g(\llbracket u, v \llbracket) : \llbracket r, s \llbracket \diamond \llbracket u, v \llbracket \subseteq U\}$, for every $U \in \mathfrak{O}\mathbb{R}$.
3. $f = g$ if and only if $f(\{r\}) = g(\{r\})$, for every $r \in \mathbb{R}$.

Proof. 1. Let $\diamond : \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}$ be an operation on \mathbb{R} and $X \in \mathcal{P}(\mathbb{R})$. Then

$$\begin{aligned} (f \diamond g)(X) &= \bigvee \{f(Y) \wedge g(Z) : Y \diamond Z \subseteq X\} \\ &= \bigvee \{f(\bigcup_{y \in Y} \{y\}) \wedge g(\bigcup_{z \in Z} \{z\}) : Y \diamond Z \subseteq X\} \\ &= \bigvee \{\bigvee_{y \in Y} f(\{y\}) \wedge \bigvee_{z \in Z} g(\{z\}) : Y \diamond Z \subseteq X\} \\ &= \bigvee \{\bigvee_{y \in Y} \bigvee_{z \in Z} (f(\{y\}) \wedge g(\{z\})) : Y \diamond Z \subseteq X\} \\ &= \bigvee \{f(\{y\}) \wedge g(\{z\}) : y \diamond z \in X\}. \end{aligned}$$

2. Suppose that $x \diamond y \in U \in \mathfrak{O}\mathbb{R}$. Since $\diamond : \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}$ is a continuous map, there are $r, s, u, v \in \mathbb{Q}$ such that $x \in \llbracket r, s \llbracket$, $y \in \llbracket u, v \llbracket$, and $x \diamond y \in \llbracket r, s \llbracket \diamond \llbracket u, v \llbracket \subseteq U$. Thus

$$\begin{aligned} (f \diamond g)(U) &= \bigvee \{f(\{x\}) \wedge g(\{y\}) : x \diamond y \in U\} \\ &\leq \bigvee \{f(\llbracket r, s \llbracket \wedge g(\llbracket u, v \llbracket) : \llbracket r, s \llbracket \diamond \llbracket u, v \llbracket \subseteq U\} \\ &\leq \bigvee \{f(Y) \wedge g(Z) : Y \diamond Z \subseteq U\} \\ &= (f \diamond g)(U). \end{aligned}$$

Consequently,

$$(f \diamond g)(U) = \bigvee \{f(\llbracket r, s \rrbracket) \wedge g(\llbracket u, v \rrbracket) : \llbracket r, s \rrbracket \diamond \llbracket u, v \rrbracket \subseteq U\}.$$

3. Trivial. □

Proposition 3.5. *Let f, g be two real-valued functions on a frame L and $\diamond \in \{+, \cdot, \vee, \wedge\}$. Then $f \diamond g$ is a real-valued function on L .*

Proof. Suppose that $h = f \diamond g$ and $X_1, X_2 \subseteq \mathbb{R}$. Then

$$\begin{aligned} h(X_1) \wedge h(X_2) &= \bigvee \{f(Y_1) \wedge g(Z_1) : Y_1 \diamond Z_1 \subseteq X_1\} \wedge \bigvee \{f(Y_2) \wedge g(Z_2) : Y_2 \diamond Z_2 \subseteq X_2\} \\ &= \bigvee \{f(Y_1) \wedge g(Z_1) \wedge f(Y_2) \wedge g(Z_2) : Y_1 \diamond Z_1 \subseteq X_1, Y_2 \diamond Z_2 \subseteq X_2\} \\ &= \bigvee \{f(Y_1 \cap Y_2) \wedge g(Z_1 \cap Z_2) : Y_1 \diamond Z_1 \subseteq X_1, Y_2 \diamond Z_2 \subseteq X_2\} \\ &\leq \bigvee \{f(Y) \wedge g(Z) : Y \diamond Z \subseteq X_1 \cap X_2\} \\ &= h(X_1 \cap X_2). \end{aligned}$$

Hence, by Lemma 3.3, $h(X_1 \cap X_2) = h(X_1) \wedge h(X_2)$.

Now, let $\{X_i : i \in I\}$ be a family of subsets of \mathbb{R} . Suppose that $Y \diamond Z \subseteq \bigcup X_i$. If $y \in Y$ and $z \in Z$, then there exists $i \in I$ such that $y \diamond z \in X_i$. So, $f(\{y\}) \wedge g(\{z\}) \leq h(X_i)$. Hence

$$f(Y) \wedge g(Z) = \bigvee \{f(\{y\}) \wedge g(\{z\}) : y \in Y, z \in Z\} \leq \bigvee_{i \in I} h(X_i).$$

Thus

$$h\left(\bigcup_{i \in I} X_i\right) = \bigvee \{f(Y) \wedge g(Z) : Y \diamond Z \subseteq \bigcup_{i \in I} X_i\} \leq \bigvee_{i \in I} h(X_i).$$

By Lemma 3.3, $h(\bigcup_{i \in I} X_i) = \bigvee_{i \in I} h(X_i)$. Also, we have

$$\begin{aligned} h(\emptyset) &= \bigvee \{f(\{x\}) \wedge g(\{y\}) : x \diamond y \in \emptyset\} \\ &= \bigvee \emptyset \\ &= \perp \end{aligned}$$

and

$$\begin{aligned} h(\mathbb{R}) &= \bigvee \{f(\{x\}) \wedge g(\{y\}) : x \diamond y \in \mathbb{R}\} \\ &= f(\mathbb{R}) \wedge g(\mathbb{R}) \\ &= \top \wedge \top \\ &= \top. \end{aligned}$$

□

Lemma 3.6. *Let f, g and h be real-valued functions on a frame L and $\diamond \in \{+, \cdot, \vee, \wedge\}$. Then the following statements hold.*

1. $f \diamond g = g \diamond f$.
2. $f \vee f = f$ and $f \wedge f = f$.
3. $f \diamond (g \diamond h) = (f \diamond g) \diamond h$.
4. $f \vee (f \wedge g) = f$ and $f \wedge (f \vee g) = f$.
5. $(f + g)h = fh + gh$.
6. *If $(\diamond, \diamond') \in \{(\vee, \wedge), (\wedge, \vee), (+, \wedge), (+, \vee)\}$, then $f \diamond (g \diamond' h) = (f \diamond g) \diamond' (f \diamond h)$.*

Proof. 1. Trivial.

2. Trivial.

3. For every $r \in \mathbb{R}$, we have

$$\begin{aligned}
((f \diamond g) \diamond h)(\{r\}) &= \bigvee \{(f \diamond g)(\{x\}) \wedge h(\{y\}) : x \diamond y = r\} \\
&= \bigvee \{\bigvee \{f(\{z\}) \wedge g(\{t\}) : z \diamond t = x\} \wedge h(\{y\}) : x \diamond y = r\} \\
&= \bigvee \{f(\{z\}) \wedge g(\{t\}) \wedge h(\{y\}) : (z \diamond t) \diamond y = r\} \\
&= \bigvee \{f(\{z\}) \wedge g(\{t\}) \wedge h(\{y\}) : z \diamond (t \diamond y) = r\} \\
&= \bigvee \{f(\{z\}) \wedge \bigvee \{g(\{t\}) \wedge h(\{y\}) : t \diamond y = v\} : z \diamond v = r\} \\
&= \bigvee \{f(\{z\}) \wedge (g \diamond h)(\{v\}) : z \diamond v = r\} \\
&= (f \diamond (g \diamond h))(\{r\}).
\end{aligned}$$

Hence, $(f \diamond g) \diamond h = f \diamond (g \diamond h)$.

4. For every $r \in \mathbb{R}$, we have

$$\begin{aligned}
f \vee (f \wedge g)(\{r\}) &= \bigvee \{f(\{x\}) \wedge (f \wedge g)(\{t\}) : x \vee t = r\} \\
&= \bigvee \{f(\{x\}) \wedge \bigvee \{f(\{y\}) \wedge g(\{z\}) : y \wedge z = t\} : x \vee t = r\} \\
&= \bigvee \{f(\{x\}) \wedge (f(\{y\}) \wedge g(\{z\})) : x \vee (y \wedge z) = r\} \\
&= \bigvee \{f(\{x \cap \{y\}\}) \wedge g(\{z\}) : x \vee (y \wedge z) = r\} \\
&= \bigvee \{f(\{x\}) \wedge g(\{z\}) : x \vee (x \wedge z) = r\} \\
&= \bigvee \{f(\{x\}) \wedge g(\{z\}) : x = r\} \\
&= f(\{r\}) \wedge \bigvee \{g(\{z\}) : z \in \mathbb{R}\} \\
&= f(\{r\}) \wedge \top \\
&= f(\{r\}).
\end{aligned}$$

Therefore, $f \vee (f \wedge g) = f$ and a similar proof shows that $f \wedge (f \vee g) = f$.

5. For every $r \in \mathbb{R}$, we have

$$\begin{aligned}
(fh + gh)(\{r\}) &= \bigvee \{(fh)(\{a\}) \wedge gh(\{b\}) : a + b = r\} \\
&= \bigvee \{\bigvee \{f(\{z\}) \wedge h(\{y\}) : zy = a\} \\
&\quad \wedge \bigvee \{g(\{t\}) \wedge h(\{w\}) : tw = b\} : a + b = r\} \\
&= \bigvee \{f(\{z\}) \wedge g(\{t\}) \wedge h(\{y\} \cap \{w\}) : zy + tw = r\} \\
&= \bigvee \{f(\{z\}) \wedge g(\{t\}) \wedge h(\{y\}) : zy + ty = r\} \\
&= \bigvee \{f(\{z\}) \wedge g(\{t\}) \wedge h(\{y\}) : (z + t)y = r\} \\
&= \bigvee \{\bigvee \{f(\{z\}) \wedge g(\{t\}) : z + t = x\} \wedge h(\{y\}) : xy = r\} \\
&= \bigvee \{(f + g)(\{x\}) \wedge h(\{y\}) : xy = r\} \\
&= ((f + g)h)(\{r\}).
\end{aligned}$$

Therefore, $(f + g)h = fh + gh$.

6. For every $r, x, y, z, t \in \mathbb{R}$, we have $x \diamond (y \diamond' t) = (x \diamond y) \diamond' (x \diamond t)$, it

follows that

$$\begin{aligned}
(f \diamond (g \diamond' h))(\{r\}) &= \bigvee \{f(\{x\}) \wedge (g \diamond' h)(\{z\}) : x \diamond z = r\} \\
&= \bigvee \{f(\{x\}) \wedge \bigvee \{g(\{y\}) \wedge h(\{t\}) : y \diamond' t = z\} : x \diamond z = r\} \\
&= \bigvee \{f(\{x\}) \wedge g(\{y\}) \wedge h(\{t\}) : x \diamond (y \diamond' t) = r\} \\
&= \bigvee \{f(\{x\}) \wedge g(\{y\}) \wedge h(\{t\}) : (x \diamond y) \diamond' (x \diamond t) = r\} \\
&= \bigvee \{ \bigvee \{f(\{x\}) \wedge g(\{y\}) : x \diamond y = v\} \wedge \\
&\quad \bigvee \{f(\{x\}) \wedge h(\{t\}) : x \diamond t = w\} : v \diamond' w = r \} \\
&= \bigvee \{(f \diamond g)(\{v\}) \wedge (f \diamond h)(\{w\}) : v \diamond' w = r\} \\
&= (f \diamond g) \diamond' (f \diamond h)(\{r\}).
\end{aligned}$$

Therefore, $f \diamond (g \diamond' h) = (f \diamond g) \diamond' (f \diamond h)$. □

The set $F(L)$ of all continuous real functions on a frame L will be provided with an algebraic and an order structure. The partial ordering on $F(L)$ is defined by:

$$f \leq g \text{ if and only if } f \wedge g = f \text{ if and only if } f \vee g = g.$$

Also, by Lemma 3.6, $F(L)$ is lattice.

Remark 3.7.

1. **The constant real-valued function on a frame L .** For each $c \in \mathbb{R}$, let \mathbf{c} be defined by

$$\mathbf{c}(X) = \begin{cases} \top_L & \text{if } c \in X, \\ \perp_L & \text{if } c \notin X \end{cases}$$

for every $X \in \mathcal{P}(\mathbb{R})$. It is obvious that $\mathbf{c} \in F(L)$. Also, for every $f \in F(L)$,

$$(f + \mathbf{0})(\{x\}) = \bigvee \{f(\{y\}) \wedge \mathbf{0}(\{z\}) : y + z = x\} = f(\{x\})$$

and

$$(f \mathbf{1})(\{x\}) = \bigvee \{f(\{y\}) \wedge \mathbf{1}(\{z\}) : yz = x\} = f(\{x\}),$$

where $x \in \mathbb{R}$. Therefore, $f + \mathbf{0} = f$ and $f \mathbf{1} = f$.

2. **Additive inverse.** Let $f \in F(L)$. The mapping $-f : \mathcal{P}(\mathbb{R}) \rightarrow L$ defined by $(-f)(X) = f(-X)$ clearly belongs to $F(L)$, where $X \in \mathcal{P}(\mathbb{R})$ and $-X = \{-x : x \in X\}$. Also, for any $r \in \mathbb{R}$,

$$\begin{aligned}
(f + (-f))(\{r\}) &= \bigvee \{f(\{y\}) \wedge (-f)(\{z\}) : y + z = r\} \\
&= \bigvee \{f(\{y\}) \wedge f(\{-z\}) : y + z = r\} \\
&= \bigvee \{f(\{y\}) \wedge f(\{y - r\}) : y \in \mathbb{R}\} \\
&= \bigvee \{f(\{y\}) \wedge \{y - r\} : y \in \mathbb{R}\} \\
&= \begin{cases} f(\mathbb{R}) & \text{if } r = 0 \\ \bigvee \{\perp_L\} & \text{if } r \neq 0 \end{cases} \\
&= \begin{cases} \top_L & \text{if } r = 0 \\ \perp_L & \text{if } r \neq 0 \end{cases} \\
&= \mathbf{0}(\{r\}).
\end{aligned}$$

Therefore, $f + (-f) = \mathbf{0}$.

3. **Product with a scalar.** For any $f \in F(L)$ and $r \in \mathbb{R}$, define

$$r.f(X) = \begin{cases} \mathbf{0}(X) & \text{if } r = 0, \\ f(\frac{1}{r}X) & \text{if } r \in \mathbb{R} - \{0\}, \end{cases}$$

where $X \in \mathcal{P}(\mathbb{R})$ and $\frac{1}{r}X = \{\frac{1}{r}x : x \in X\}$; a straightforward calculation gives $r.f = \mathbf{r}f$.

Lemma 3.8. *Let $r \in \mathbb{R}$ and $f, g \in F(L)$. Then the following properties hold.*

1. $(f \wedge g)(\{r\}) = (f(\{r\}) \wedge g[r, +\infty)) \vee (f[r, +\infty) \wedge g(\{r\}))$.
2. $(f \vee g)(\{r\}) = (f(\{r\}) \wedge g(-\infty, r]) \vee (f(-\infty, r] \wedge g(\{r\}))$.
3. $(f \wedge \mathbf{0})(\{r\}) = \begin{cases} \perp & \text{if } r > 0, \\ f[0, +\infty) & \text{if } r = 0, \\ f(\{r\}) & \text{if } r < 0. \end{cases}$

$$4. (f \vee \mathbf{0})(\{r\}) = \begin{cases} f(\{r\}) & \text{if } r > 0, \\ f(-\infty, 0] & \text{if } r = 0, \\ \perp & \text{if } r < 0. \end{cases}$$

Proof. Trivial. □

Theorem 3.9. $(F(L), +, \cdot, \vee, \wedge)$ is an f -ring.

Proof. By Lemma 3.6 and Remark 3.7, it suffices to show that if $f, g \in F(L)$ with $f, g \geq \mathbf{0}$, then $fg \geq \mathbf{0}$. By Lemma 3.8, we have

$$\begin{aligned} (fg \wedge \mathbf{0})(\{r\}) &= \begin{cases} (fg)(\{r\}) & \text{if } r < 0 \\ fg[0, +\infty) & \text{if } r = 0 \\ \perp_L & \text{if } r > 0 \end{cases} \\ &= \begin{cases} \bigvee \{f(\{x\}) \wedge g(\{y\}) : xy = r, r < 0\} & \text{if } r < 0 \\ (f[0, +\infty) \wedge g[0, +\infty)) \vee (f(-\infty, 0] \wedge g(-\infty, 0]) & \text{if } r = 0 \\ \perp_L & \text{if } r > 0 \end{cases} \\ &= \begin{cases} \bigvee \{f(\{x\}) \wedge g(\{y\}) : xy = r, x > 0, y < 0\} \\ \vee \bigvee \{f(\{x\}) \wedge g(\{y\}) : xy = r, x < 0, y > 0\} & \text{if } r < 0 \\ (\top \wedge \top) \vee (f(-\infty, 0] \wedge g(-\infty, 0]) & \text{if } r = 0 \\ \perp_L & \text{if } r > 0 \end{cases} \\ &= \begin{cases} \bigvee \{f(\{x\}) \wedge \perp : xy = r, x > 0, y < 0\} \\ \vee \bigvee \{\perp \wedge g(\{y\}) : xy = r, x < 0, y > 0\} & \text{if } r < 0 \\ \top_L & \text{if } r = 0 \\ \perp_L & \text{if } r > 0 \end{cases} \\ &= \begin{cases} \top_L & \text{if } r = 0 \\ \perp_L & \text{if } r \neq 0 \end{cases} \\ &= \mathbf{0}(\{r\}). \end{aligned}$$

Hence $fg \geq \mathbf{0}$. □

Finally, it is worth mentioning that the association $L \rightarrow F(L)$ from the category of frames to that of real-valued functions on frames is functorial: for any frame homomorphism $\phi : M \rightarrow L$, the associated map $F\phi : F(M) \rightarrow F(L)$ takes any $f \in F(M)$ to $\phi f \in F(L)$, and especially takes $\mathbf{1}_{\mathbf{Frm}}$ to the identity arrow of real-valued functions on frames. Obviously, the resulting functor F is a covariant functor.

4 A generalization of \mathbb{R}^X

The set \mathbb{R}^X of all real-valued functions on a set X will be provided with an algebraic and an order structure. If $\diamond \in \{+, \cdot, \wedge, \vee\}$, then for every $f, g \in \mathbb{R}^X$ and $x \in X$, define $f \diamond g$ by

$$(f \diamond g)(x) = f(x) \diamond g(x).$$

Since $(\mathbb{R}, +, \cdot, \wedge, \vee)$ is an f -ring, we infer that \mathbb{R}^X is an f -ring (see [10]).

The following theorem shows that $F(L)$, as an f -ring, is a generalization of \mathbb{R}^X .

Theorem 4.1. *The assignment $\theta(f) = f^{-1}$ from \mathbb{R}^X to $F(\mathcal{P}(X))$ is an f -ring isomorphism, where*

$$\begin{aligned} f^{-1} : \mathcal{P}(\mathbb{R}) &\longrightarrow \mathcal{P}(X) \\ A &\longmapsto \{x \in X : f(x) \in A\}. \end{aligned}$$

Proof. (i) Clearly θ is a function.

(ii) Let $f, g \in \mathbb{R}^X$ such that $\theta(f) = \theta(g)$. Then for every $x \in X$,

$$x \in f^{-1}(\{f(x)\}) = g^{-1}(\{f(x)\}),$$

which follows that $f(x) = g(x)$. Hence $f = g$. Therefore, θ is one-one.

(iii) To show that θ is surjective, let $g \in F(\mathcal{P}(X))$. The relation h , define by

$$h(x) = \lambda \text{ iff } x \in g(\{\lambda\})$$

is a function from X to \mathbb{R} , since $\bigcup_{\lambda \in \mathbb{R}} g(\{\lambda\}) = g(\mathbb{R}) = X$. Therefore for any $x \in X$, there exists $\lambda \in \mathbb{R}$ such that $x \in g(\{\lambda\})$ and hence $Dom(h) = X$. It immediately follows from the definition that $\theta(h) = h^{-1} = g$.

(iv) By Lemma 3.4, for any $f, g \in \mathbb{R}^X$, $r \in \mathbb{R}$ and $\diamond \in \{+, \cdot, \wedge, \vee\}$, we have

$$(\theta(f) \diamond \theta(g))(\{r\}) = (f^{-1} \diamond g^{-1})(\{r\}) = \bigcup \{f^{-1}(\{a\}) \cap g^{-1}(\{b\}) : a \diamond b = r\}.$$

Furthermore,

$$\theta(f \diamond g)(\{r\}) = (f \diamond g)^{-1}(\{r\}) = \{x \in X : (f \diamond g)(x) = r\}.$$

Let $z \in (\theta(f) \diamond \theta(g))(\{r\})$. Then there exist $a, b \in \mathbb{R}$ with $a \diamond b = r$ such that $z \in f^{-1}(\{a\}) \cap g^{-1}(\{b\})$, and thus

$$(f \diamond g)(z) = f(z) \diamond g(z) = a \diamond b = r,$$

which follows that $z \in \theta(f \diamond g)(\{r\})$. Hence,

$$(\theta(f) \diamond \theta(g))(\{r\}) \subseteq \theta(f \diamond g)(\{r\}).$$

To establish the reverse inclusion, consider $z \in \theta(f \diamond g)(\{r\})$, then

$$f(z) \diamond g(z) = (f \diamond g)(z) = r.$$

Since $z \in f^{-1}(\{f(z)\}) \cap g^{-1}(\{g(z)\})$, we conclude that $z \in (\theta(f) \diamond \theta(g))(\{r\})$. Hence,

$$\theta(f \diamond g)(\{r\}) \subseteq (\theta(f) \diamond \theta(g))(\{r\}).$$

Therefore, $\theta(f \diamond g) = \theta(f) \diamond \theta(g)$. This completes the proof of the theorem. □

5 Boolean algebra

In this section, we show that for every frame L , there exists a Boolean frame B such that $F(L)$ is a sub- f -ring of $F(B)$.

Remark 5.1. Let (L, \vee, \wedge) be a frame. It is well-known that

$$BL := \{a \in L : a^{**} = a\},$$

is the Booleanization of the frame L which the underlying set BL has meet \sqcap and join \sqcup given by:

$$(i) \ a \sqcap b = a \wedge b$$

$$(ii) \ \sqcup A = (\bigvee A)^{**}.$$

Lemma 5.2. *Let L be a frame and $f : \mathcal{P}(\mathbb{R}) \rightarrow L$ be a frame map. Then $f(A)' = f(A')$, for every $A \subseteq \mathbb{R}$, where the complement of $f(A)$ is, by definition, $(f(A))'$, abbreviated $f(A)'$.*

Proof. Since f is a frame map, $f(A') \wedge f(A) = \perp$ and $f(A') \vee f(A) = \top$. It follows immediately that $f(A')$ is the complement of $f(A)$. \square

Theorem 5.3. *Let L be a frame. Then the mapping*

$$\begin{aligned} \varphi : F(L) &\longrightarrow F(BL) \\ f &\longmapsto f^{**} \end{aligned}$$

is an f -ring embedding, where

$$\begin{aligned} f^{**} : \mathcal{P}(\mathbb{R}) &\longrightarrow BL \\ A &\longmapsto (f(A))^{**} \end{aligned}$$

Proof. By definition of BL , if $f \in F(L)$ and $A, B \in \mathcal{P}(\mathbb{R})$, then

$$\varphi(f)(A \cap B) = (f(A \cap B))^{**} = (f(A) \wedge f(B))^{**} = f(A)^{**} \wedge f(B)^{**} = \varphi(f)(A) \sqcap \varphi(f)(B).$$

Also, if $\{A_\lambda\}_{\lambda \in \Lambda} \subseteq \mathcal{P}(\mathbb{R})$, then, by Remark 5.1 and Lemma 5.2,

$$\varphi(f)\left(\bigcup_{\lambda \in \Lambda} A_\lambda\right) = (f\left(\bigcup_{\lambda \in \Lambda} A_\lambda\right))^{**} = \left(\bigvee_{\lambda \in \Lambda} f(A_\lambda)\right)^{**} = \bigsqcup_{\lambda \in \Lambda} \varphi(f)(A_\lambda).$$

Hence $f^{**} : \mathcal{P}(\mathbb{R}) \rightarrow BL$ is a frame map. If $f, g \in F(L)$ and $\varphi(f) = \varphi(g)$, then, by Lemma 5.2,

$$f(A) = f^{**}(A) = \varphi(f)(A) = \varphi(g)(A) = g^{**}(A) = g(A)$$

for every $A \in \mathcal{P}(\mathbb{R})$. So $f = g$ and hence φ is one-one.

If $f, g \in F(L)$ and $A \in \mathcal{P}(\mathbb{R})$, then

$$\begin{aligned}
\varphi(f \diamond g)(A) &= (f \diamond g)^{\star\star}(A) \\
&= ((f \diamond g)(A))^{\star\star} \\
&= (\bigvee^L \{f(\{x\}) \wedge g(\{y\}) : x \diamond y \in A\})^{\star\star} \\
&= \bigsqcup \{f(\{x\}) \wedge g(\{y\}) : x \diamond y \in A\} && \text{by Remark 5.1} \\
&= \bigsqcup \{f(\{x\}) \sqcap g(\{y\}) : x \diamond y \in A\} \\
&= \bigsqcup \{(f(\{x\}))^{\star\star} \sqcap (g(\{y\}))^{\star\star} : x \diamond y \in A\} && \text{by Lemma 5.2} \\
&= \bigsqcup \{\varphi(f)(\{x\}) \sqcap \varphi(g)(\{y\}) : x \diamond y \in A\} \\
&= (\varphi(f) \diamond \varphi(g))(A)
\end{aligned}$$

for every $\diamond \in \{+, \cdot, \wedge, \vee\}$. Therefore, φ is an f -ring monomorphism. \square

6 The relation between $F(L)$ and $\mathcal{R}(L)$

Now, we are going to prove that $F(L)$ is isomorphic to a sub- f -ring of $\mathcal{R}(L)$.

Theorem 6.1. *For any frame L , the mapping $F(L) \rightarrow \mathcal{R}(L)$ taking any f to $f \circ j$ is an f -ring monomorphism, where $j : \mathcal{L}(\mathbb{R}) \rightarrow \mathcal{O}(\mathbb{R})$ taking (p, q) to $\llbracket p, q \rrbracket$ is an isomorphism.*

Proof. Let $f, g \in F(L)$ such that $f \circ j = g \circ j$. For every $r \in \mathbb{R}$, we have

$$\begin{aligned}
f(\{r\}) &= f((\mathbb{R} - \{r\})') \\
&= (f(\mathbb{R} - \{r\}))' && \text{by Lemma 5.2} \\
&= ((f \circ j)((-, r) \vee (r, -)))' \\
&= ((g \circ j)((-, r) \vee (r, -)))' \\
&= (g(\mathbb{R} - \{r\}))' \\
&= g((\mathbb{R} - \{r\})') && \text{by Lemma 5.2} \\
&= g(\{r\}).
\end{aligned}$$

Hence $f = g$. Furthermore, for each operator \diamond in $\{+, \cdot, \vee, \wedge\}$ and for each $p, q \in \mathbb{Q}$, we have

$$\begin{aligned}
((f \diamond g) \circ j)(p, q) &= (f \diamond g)(\llbracket p, q \rrbracket) \\
&= \bigvee \{(f(\llbracket r, s \rrbracket) \wedge g(\llbracket u, v \rrbracket)) : \llbracket r, s \rrbracket \diamond \llbracket u, v \rrbracket \subseteq \llbracket p, q \rrbracket\} \\
&= \bigvee \{(f \circ j)(r, s) \wedge (g \circ j)(u, v) : \langle r, s \rangle \diamond \langle u, v \rangle \subseteq \langle p, q \rangle\} \\
&= ((f \circ j) \diamond (g \circ j))(p, q).
\end{aligned}$$

Hence, $F(L)$ is isomorphic to a sub- f -ring of $\mathcal{R}(L)$. \square

We now present a counterexample to show that the relation of inclusion between $F(L)$ and $R(L)$ in Theorem 6.1 may be strict. For this, let $A = C([0, 1])$, the ring of real continuous functions on $[0, 1]$, and let $C\mathcal{L}(A)$ be the frame of all closed ℓ -ideals of A . First, we show that $F(C\mathcal{L}(A)) \cong \mathbb{R}$ as f -rings. To see this, let $f : \mathcal{P}(\mathbb{R}) \rightarrow C\mathcal{L}(A)$ be a frame map and let $I_r := f(\{r\})$ for any $r \in \mathbb{R}$. Since $C\mathcal{L}(A)$ is compact, there exist $r_1, \dots, r_n \in \mathbb{R}$ such that

$$I_{r_1} + \dots + I_{r_n} = \overline{I_{r_1} \vee \dots \vee I_{r_n}} = \overline{I_{r_1} \vee \dots \vee I_{r_n}} = \overline{f(\{r_1\}) \vee \dots \vee f(\{r_n\})} = A,$$

where \vee is the join of ℓ -ideals among the ℓ -ideals of A . So there exists $\alpha_i \in I_{r_i}$ such that $\mathbf{1}_A = \alpha_1 + \dots + \alpha_n$ for every $1 \leq i \leq n$, where we can assume that $\alpha_i \geq \mathbf{0}$, by triangle property in f -rings, with at least one of them being nonzero. Assume that $\alpha_1 \neq \mathbf{0}$, say. We show that $\alpha_1 = \mathbf{1}_A$ and $\alpha_i = \mathbf{0}_A$ for any $i \neq 1$. The case in which $n = 1$ is trivial. If $n = 2$, then $I_{r_1} + I_{r_2} = A$ with $\mathbf{1}_A = \alpha + \beta$ for some positive $\alpha \in I_{r_1}$ and nonnegative $\beta \in I_{r_2}$. Applying the notation $[a]$ for the ℓ -ideal generated by $a \in A$, we can write

$$\alpha \wedge \beta \in \overline{[\alpha \wedge \beta]} = \overline{[\alpha] \cap [\beta]} = \overline{[\alpha] \cap [\beta]} \subseteq I_{r_1} \cap I_{r_2} = \{\mathbf{0}_A\}.$$

So that $\alpha \wedge \beta = \mathbf{0}_A$. Moreover,

$$\alpha \wedge \beta = \frac{\mathbf{1}}{2}(\alpha + \beta - |\alpha - \beta|) = \frac{\mathbf{1}}{2}(\mathbf{1} - |\mathbf{1} - 2\beta|)$$

So $|\mathbf{1} - 2\beta| = \mathbf{1}$, whence $(\mathbf{1} - 2\beta)(r) = \pm 1$ for all r in $[0, 1]$ and we conclude, using the continuity of $\mathbf{1} - 2\beta$, that $\mathbf{1} - 2\beta = \mathbf{1}$ or $\mathbf{1} - 2\beta = -\mathbf{1}$. Consequently, $\beta = \mathbf{0}$ or $\beta = \mathbf{1}$, respectively. But $\beta = \mathbf{1}$ is impossible because $\alpha \wedge \beta = \mathbf{0}_A$. If $\beta = \mathbf{0}$, then $\alpha = \mathbf{1}$, as desired.

Next, if $n \geq 3$, then

$$I_{r_1} \cap (I_{r_2} + \dots + I_{r_n}) = \overline{I_{r_1} \cap (I_{r_2} \vee \dots \vee I_{r_n})} = \overline{(I_{r_1} \wedge I_{r_2}) \vee \dots \vee (I_{r_1} \wedge I_{r_n})} = \mathbf{0}.$$

So that $\alpha_1 \wedge (\alpha_2 + \dots + \alpha_n) = \mathbf{0}$. Let $\alpha := \alpha_1$, $\beta := \alpha_2 + \dots + \alpha_n$, and using an argument similar to the latter case above, we conclude that $\alpha = \alpha_1 = \mathbf{1}$ and $\beta = \alpha_2 + \dots + \alpha_n = \mathbf{0}$. Hence $\alpha_2 = \dots = \alpha_n = \mathbf{0}$. Since the α_i 's are

all nonnegative. Consequently, $f(\{r_1\}) = I_{r_1} = A$, and for every $s \neq r_1$, $f(\{s\}) = f(\{s\}) \cap A = f(\{s\}) \cap f(\{r_1\}) = \{\mathbf{0}_A\}$. So every frame map in $F(C\mathcal{L}(A))$ is constant.

Now, by Proposition 6 of [4] and Proposition 4.1 of [3], since A is an Archimedean, strong, and bounded f -ring over \mathbb{Q} , A is isomorphic to a subring of $\mathcal{R}(C\mathcal{L}(A))$; indeed, A is isomorphic to $\mathcal{R}(C\mathcal{L}(A))$ since A is complete in its uniform topology (see [4], p.36). Furthermore, the the image of a constant function in $F(C\mathcal{L}(A))$ under the embedding defined in Theorem 6.1 is a constant function in $\mathcal{R}(C\mathcal{L}(A))$, whence $F(C\mathcal{L}(A)) \neq \mathcal{R}(C\mathcal{L}(A))$.

Acknowledgements

We thank the referee for a thorough scrutiny on the first version of this paper, and for the comments which have improved this work. We also express our gratitude to Professor M. Mehdi Ebrahimi. The authors sincere thanks also goes to Malayer University for the kind hospitality during their research stay on August 2015.

References

- [1] R.N. Ball and J. Walters-Wayland, *C- and C*-quotients in pointfree topology*, Dissertationes Math. (Rozprawy Mat.) 412 (2002), 1-61.
- [2] B. Banaschewski, *On the function rings of pointfree topology*, Kyungpook Math. J. 48 (2008), 195-206.
- [3] B. Banaschewski, *Pointfree topology and the spectra of f-rings*, Ordered algebraic structures, (Curaçoa, 1995), Kluwer Acad. Publ., Dordrecht, (1997), 123-148.
- [4] B. Banaschewski, *Ring theory and pointfree topology*, Topology Appl. 137 (2004), 2137.
- [5] B. Banaschewski, "The real numbers in pointfree topology", Textos de Matemática (Series B), Vol. 12, University of Coimbra, 1997.
- [6] T. Dube and O. Ighedo, *On z-ideals of pointfree function rings*, Bull. Iranian Math. Soc. 40(3) (2014), 657-675.
- [7] T. Dube, *A note on the socle of certain types of f-rings*, Bull. Iranian Math. Soc. 38(2) (2012), 517-528.

- [8] T. Dube, *Contracting the socle in rings of continuous functions*, Rend. Semin. Mat. Univ. Padova 123 (2010), 37-53.
- [9] A.A. Estaji, A. Karimi Feizabadi and M. Zarghani, *The ring of real-continuous functions on a toposframe*, Categ. General Alg. Struct. Appl. 4 (2016), 75-94
- [10] L. Gillman and M. Jerison, "Rings of Continuous Functions", Springer-Verlag, 1976.

Abolghasem Karimi Feizabadi, *Department of Mathematics, Gorgan Branch, Islamic Azad University, Gorgan, Iran.*

Email: akarimi@gorganiau.ac.ir; karimimath@yahoo.com

Ali Akbar Estaji, *Faculty of Mathematics and Computer Sciences, Hakim Sabzevari University, Sabzevar, Iran.*

Email: aaestaji@hsu.ac.ir; aa_estaji@yahoo.com

Mohammad Zarghani, *Faculty of Mathematics and Computer Sciences, Hakim Sabzevari University, Sabzevar, Iran.*

Email: zarghanim@yahoo.com